Grammars and Lexicons: 11-721

Fall Term 2003

Homework #5

Due Wednesday, October 15

Do the Tongan and Jakaltek exercised, Van Valin, Chapter 2, following

these instructions:

TONGAN

======

1.  Is sentence 1 transitive or intransitive?

intransitive 
2.  Which morpheme is the case marker in sentence 1?  Just give the

form of the morpheme, not it's meaning or grammatical role.

‘a
3.  Is sentence 2 transitive or intransitive?

intransitive
4.  Which morpheme is the  case marker in sentence 2?

‘a
5.  Is sentence 3 transitive or intransitive?

transitive
6.  Which morhpheme is the case marker of the agent in sentence 3?

’e
7.  Which morpheme is the case marker of the patient in sentence 3?

‘a
8.  Which morpheme is the case marker of the location in sentence 5?

‘i
9.  Which morpheme is the case marker of the experiencer in sentence 6?

‘a
10.  Which morpheme is the case marker of "girl" in sentence 6?

‘i
11.  Is sentence 6 transitive or intransitive?

     Hint:  Don't be fooled by the English translation.

intransitive
12. Which morpheme is the case marker of "island" in sentence 7?

ki
13. Which morpheme is the case marker of "bird" in sentence 8?

ki
14. Is sentence 8 transitive or intransitive?

intransitive
15. Is the case marking ergative-absolutive or nominative-accusative?

Ergative-absolutive
For sentences 10-15, we will use the abbreviations:

A  agent of a transitive verb

S  subject of an intransitive verb

O  object of a transitive verb

16.  Choose one:  The controller of conjunction reduction in sentence

10 is:  A  S  O

S
17.  Choose one: The controller of conjunction reduction in sentence

11 is:  A  S  O 

S
18.  Choose one: The controller of conjunction reduction in sentence

12 is:  A  S  O 

O
19.  Choose one: The controller of conjunction reduction in sentence

13 is:  A  S  O 

S
Sentences 14' and 15' do not have any conjunction reduction.  In both

cases, the second clause has pronouns for all participants, not null

NPs. 

20.  Which two roles can control conjunction reduction (A, S, or O)?

S, O
21.  Choose one: The controllee of conjunction reduction in sentence

10 is:  A  S  O 

S
22.  Choose one: The controllee of conjunction reduction in sentence

11 is:  A  S  O 

A
23.  Choose one: The controllee of conjunction reduction in sentence

12 is:  A  S  O 

S
24.  Choose one: The attempted, but ungrammatical, controllee of

conjunction reduction in sentence 14 is: A S O

O
25.  Choose one: The attempted, but ungrammatical, controllee of

conjunction reduction in sentence 15 is: A S O

O
26.  Which two roles (A, S, or O) can be controllees of conjunction

reduction? 

S, A
27.  (optional) Do you have any questions?

========

JAKALTEK

========

Here are the instructions for Jakaltek.  Questions about sentences

21-25 will be extra credit.  

We will use this terminology:

A   agent of a transitive verb

S   subject of an intransitive verb

O   object of a transitive verb

QUESTION 1.  Sentences 1-10: Fill in the table with the agreement

morphemes for first person singular A, O, and S; second person

singular A, O, and S; Third person singular A, O, and S.

	
	A
	S
	O

	First person
	w
	in
	In

	Second person
	aw
	ach
	ach

	Third person
	y
	(null)
	(null)


QUESTION 2.  Is the agreement pattern ergative-absolutive or

nominative-accusative?

Ergative-absolutive, since it has one set of agreement marking for A, and another for S and O
QUESTION 3.  Sentences 11 to 14 illustrate cleft sentences. Which two (A, S, or

O) can be extracted in a cleft sentence?

S, O
You will need this piece of information: Sentence 14 contains an

antipassive verb (Van Valin pages 74-76).  An antipassive verb is

intransitive, so the NP with the agent role is an S and it is

absolutive.

Quick summary of antipassive:  the absolutive (patient) NP becomes

oblique (locative, dative, instrumental, etc.)  Now the verb is

intransitive, and the agent is marked absolutive instead of ergative.  

QUESTION 4:  Sentences 15 to 20 illustrate wh-questions.  Sentences 18

and 20 are antipassive.  Which two (A, S, or O) can be extracted in a

wh-question?

S, O
